



St. Louis County, Minnesota

Date of Report: 5/10/2025 9:54:18 AM

General Details

 Parcel ID:
 141-0040-05520

 Document:
 Abstract - 1368497

 Document Date:
 11/19/2019

Legal Description Details

Plat Name: HIBBING

Section Township Range Lot Block

31 56 21

Description: E1/2 OF SE1/4 EX RY R/W 1 AC IN S1/2

Taxpayer Details

Taxpayer NameWHITLOCK KATHY Jand Address:2329 STUART RDHIBBING MN 55746

Owner Details

Owner Name WHITLOCK KATHY J

Payable 2025 Tax Summary

2025 - Net Tax \$5,810.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$5,810.00

Current Tax Due (as of 5/9/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,905.00	2025 - 2nd Half Tax	\$2,905.00	2025 - 1st Half Tax Due	\$2,905.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,905.00	
2025 - 1st Half Due	\$2,905.00	2025 - 2nd Half Due	\$2,905.00	2025 - Total Due	\$5,810.00	

Parcel Details

Property Address: 2329 STUART RD, HIBBING MN

School District: 701
Tax Increment District: -

Property/Homesteader: WHITLOCK, KATHY

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$36,800	\$260,500	\$297,300	\$0	\$0	-		
111	0 - Non Homestead	\$69,500	\$0	\$69,500	\$0	\$0	-		
	Total:	\$106,300	\$260,500	\$366,800	\$0	\$0	3470		





St. Louis County, Minnesota

Date of Report: 5/10/2025 9:54:18 AM

Land Details

Deeded Acres: 79.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width: 0.00 Lot Depth: 0.00

or Depuii.	0.00						
ne dimensions shown are not tps://apps.stlouiscountymn.	ot guaranteed to be s gov/webPlatsIframe/	survey quality. <i>F</i> frmPlatStatPop	Additional lot Up.aspx. If t	information can be here are any quest	e found at ions, please email <mark>Property1</mark>	Γax@stlouiscountymn.gov	
,	<u></u>			etails (HOUSE		<u> </u>	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	ea Ft ² Basement Finish Style Co		
HOUSE	1967	1,40	08	1,408	ECO Quality / 282 Ft ²	RAM - RAMBL/RNC	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	20	20	400	BASEMENT		
BAS	1	28	36	1,008	BASEMENT		
CW	1	7	12	84	FOUNDA	TION	
DK	1	10	40	400	POST ON G	ROUND	
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC	
2.5 BATHS	3 BEDROOF	MS	6 ROOI	MS	0 (C&AIR_COND, FUEL OIL	
		Improven	nent 2 De	tails (28X40 D	G)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
GARAGE	1970	1,12	20	1,120	-	DETACHED	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	28	40	1,120	FLOATING SLAB		
		Improvem	ent 3 Det	ails (SEMI TRL	_R)		
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1982	32	0	320	-		
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	8	40	320	POST ON GROUND		
		Improveme	nt 4 Deta	ils (SCHOOL E	BUS)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.	
STORAGE BUILDING	1968	27	2	272	-	- -	
Segment	Story	Width	Length	Area	Founda	tion	
BAS	1	8	34	272	POST ON G	ROUND	
		Improvem	ent 5 Det	ails (SEMI TRL	.R)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	1978	0		0	<u>-</u>	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	0	0	0	0	POST ON GROUND		





3,896.00

3,833.00

2,726.00

2,296.00

\$0

\$0

\$0

\$0

\$0

\$0

\$0

\$0

St. Louis County, Minnesota

Total

Total

Total

Total

201

111

201

111

201

111

\$116,700

\$41,400

\$82,700

\$124,100

\$34,700

\$63,400

\$98,100

\$31,900

\$55,100

\$87,000

Date of Report: 5/10/2025 9:54:18 AM

		Improvem	ent 6 Deta	ails (SEI	VII TRLR)					
Improvement Typ			Main Floor Ft ² Gross Area Ft ²			sement Finish	Style Co	de & Desc.		
STORAGE BUILDIN		0		0		-		-		
Segme		•	Length		ea	Foundation				
BAS	0	0	0	()	POST ON G				
		Improvem	ent 7 Deta	ails (SEI	/II TRLR)					
Improvement Typ	e Year Built	Main Flo	or Ft ²	Gross Are	ea Ft² Ba	sement Finish	Style Co	de & Desc		
STORAGE BUILDIN	NG 1978	0		0		-				
Segme	nt Stor	y Width	Length	Aı	Area Fo		dation			
BAS	0	0	0	-	0	POST ON (GROUND			
		Improvem	ent 8 Deta	ails (SEI	MI TRLR)					
Improvement Typ	e Year Built	Main Flo	or Ft ²	Gross Are	Gross Area Ft ² Basement Finish Styl					
STORAGE BUILDIN	NG 1978	0		0		-		-		
Segme	nt Stor	y Width	Length	Aı	ea	Foundation				
BAS	0	0	0	()	POST ON GROUND				
		Improveme	nt 9 Detai	ls (GAZ	EBO@DK)					
Improvement Typ	e Year Built	Main Flo	or Ft ²	Gross Are	ea Ft² Ba	sement Finish	Style Co	de & Desc		
GAZEBO	2019	94		94		-				
Segme	nt Stor	y Width	Length	Aı	ea	Foundation				
BAS	1	0	0	9	4	POST ON GROUND				
		Improvemer	nt 10 Deta	ils (SCH	OOL BUS)					
Improvement Typ	e Year Built	Main Flo	or Ft ²	Gross Are	ea Ft² Ba	sement Finish	Style Co	de & Desc		
STORAGE BUILDIN	NG 0	192	2	192		-		-		
Segme	nt Stor	y Width	Length	Aı	ea	Foundation				
BAS	0	8	24	1:	92	-				
Sales Reported to the St. Louis County Auditor										
No Sales informa	tion reported.									
		As	sessmen	t Histor	v					
Year	Class Code (Legend)	Land EMV	Bld EM	lg	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacit		
	201	\$39,500	\$289,	800	\$329,300	\$0	\$0	-		
2024 Payable 2025	111	\$77,200	\$0)	\$77,200	\$0	\$0	-		
		· · ·	<u> </u>		<u> </u>	<u> </u>				

2023 Payable 2024

2022 Payable 2023

2021 Payable 2022

\$0

\$0

\$0

\$0

\$0

\$0

\$0

\$0

\$0

\$0

\$289,800

\$268,500

\$0

\$268,500

\$191,400

\$0

\$191,400

\$162,400

\$0

\$162,400

\$406,500

\$309,900

\$82,700

\$392,600

\$226,100

\$63,400

\$289,500

\$194,300

\$55,100

\$249,400





St. Louis County, Minnesota

Date of Report: 5/10/2025 9:54:18 AM

Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV			
2024	\$5,526.00	\$0.00	\$5,526.00	\$122,851	\$260,400	\$383,251			
2023	\$4,518.00	\$0.00	\$4,518.00	\$95,508	\$177,101	\$272,609			
2022	\$3,906.00	\$0.00	\$3,906.00	\$83,757	\$145,890	\$229,647			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.